AP Calculus AB Fall Exam Review WS #4
1. Similar Triangle Related Rates

1. A light is on the top of a 12 ft tall pole and a 5ft tall person is walking away from the pole at a

rate of 2 ft/sec.

(a) At what rate is.the shadow length

increasing when the person is 25 ft from the

pole?

(b) At what rate is the tip of the shadow
moving when the person is 25 ft from the pole?

2. A tank of water in the shape of a cone is leaking water at a constant rate of 2ft*/hour . The
base radius of the tank is 5 ft and the height of the tank is 14 ft.
At what rate is the depth of the water in the tank changing when the depth of the water

is 6 ft?7
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(a) At what rate is the shadow length
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(b) At what rate is the tip of the shadow

moving when the p;':rson is23 ft {Tiom the pole?
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2. A tank of water in the shape of a cone is leaking water at a constant rate of 2fi*fhour . The
base radius of the tank is 5 ft and the height of the tank is 14 f&. |/= 7r%
At what rate is the depth of the water in the tank changing when the depth of the water

is 6 ft?
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